SN

HSEAld2e 2

HM: MEFE SH(2LAZ/MHS)
e WHSHSAE2Y (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
HMSAIE22 A 3,271,066 2,830,792 440,274
MEHE RH(2322Z/AR) 3,023,627 2,574,593 449,034
WESHNESAE2F 3,023,627 2,574,593 449,034
Metomz e 29 36,400 36,400 0
201 B2 A 36,400 36,400 0
01 AR 22|yl 36,400 36,400 0
= 0 & 36,400 36,400 0
OHIESIE 2ZAIx=E 800,000& x1H x12& 9,600
oulHz2e! A=Y 600,000& x1H =12 7,200
OO0tR0ot2Y A=Y 800,000& x1H x12& 9,600
Od= MegzZzs 29
1,250,000 x4 5 S *23| 10,000
SHEIEANERX 22 1,095,233 1,107,434 N 12,201
101 ol A H| 140,082 249,281 A 109, 199
04 JIZtH2ZXNSE S 140,082 249,281 A 109, 199
= 0ff &F 140,082 249,281 A 109, 199
oJles(ds) 15,000 *5A] 2t %215 «8 & 63,000
OJlE2z3(ad2R)
10,000& *3A| 2+ *21L x5H «8& 25,200
OAZ2HA22 10,000& *1.5%x8A| 2+ *2H x683] 16,320
os=2se 105,000& x5 433 22,575
O=01d= 127,095,000& *4 .5% 5,720
oA 127,098, 000& *3. 12% 3,966
OnNsesd 127,095,000& *1.5% 1,907
O&IAYEE 5,720,000 %6 .58% 377
OMES 127,095,000 *0.8% 1,017
201 A E2AH| 605,873 579,873 26,000
01 Ar®2teltl 40,884 23,884 17,000
= 0l & 40,884 23,884 17,000
Ox=g& & FAZ 37,000& 128 444
Oosgglga 3¢ 2tE Ay
8,000,000& * 14! 8,000
OdUNs st EsE XY
700,000& *102] 7,000
O%g2a A2E 2 HsSE2E 7Y
200,000 43| 800
OSesad HeAAE AREDQ
800,000& *33| 2,400
OxZW22 AlAEY 29HY| 20,000& x12& 240
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A MBS SH(2HLBZ/NS)
Sel ARBHSALSY (Ete:®e
- = o Ofl &t oH & T 0l AF A =
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
SEPEEERREE Y
5,500,000 424 £ 22,000
02 2zl 564,989 555,989 9,000
20 o 564,989 555,989 9,000
ONst: 22 11,705,75021 * 122 140,469
Oast+E 22 1,666,6602 * 122 20,000
OTAINA 23 11,666,660% + 122 140,000
o®JIea 18,333,330% + 122 220,000
OBy 2 RAUBS +48
160,0002 * 122 1,920
OFIIANEE gtE B2l RN
1,000,000 *3H £ 3,000
OAYAEE B2 289
1,750,0002 * 128 21,000
O+YZSE KX Bel 50,0008 +33| x40 600
OHAR 25J|7 S22l 400,0002 *103] 4,000
O+YR U ARIR HA 4,000,000 23] 8,000
O+YXAFTRIY SNl B
242 500,0002 *123] 6,000
202 01| 2,370 2,280 90
01 2ol 2,370 2,280 90
=0 o 2,370 2,280 90
OJlsadns &A 55,0008 *35 x2 330
ONESHHDE &4 60,0008+« 240
OBFXIXHM &RXI28 60,0008 +10% «3L 1,800
203 YRFXH| 1,000 1,000 0
03 ANBFETARETY| 1,000 1,000 0
=0 o 1,000 1,000 0
OMEHS T2I82" ALEA
1,000,000 * 144 1,000
206 W24l 10,908 8,000 2,908
01 M=l 10,908 8,000 2,908
=0 & 10,908 8,000 2,908
O+9% %42 7Y 2,727,0002 *43| 10,908
207 RO 20,000 0 20,000
01 glmgoy 20,000 0 20,000
=0 o 20,000 0 20,000
OMSALEI2Y YOt B
20,000,000 14! 20,000
401 Al2HlL Lol 315,000 266,000 49,000
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HI: MBS S4(23L2Z/HS)
chel: PREHSAL2Y S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES 2 mon) (I o) Hns2
01 Al&dl 315,000 266,000 49,000
=0l At 315,000 266,000 49,000
OSgW)|E2 HEQIE & Witg)] A X
Z A 200,000,000 * 14! 200,000
OSg W) E2 ABAIA MU Z2A
50,000, 000 14l 50,000
OZNI2YA 24828 DH2A
40,000,0002 * 14! 40,000
OZML-IE HXEA WEEH 2 A
20,000, 000 14l 20,000
OXGt=2tH AIS22I22 5,000,000 14l 5,000
ZEAIN AL 22 1,163,761 589, 117 574,644
101 Q12y] 34,136 51,107 A 16,971
04 JIZHRI22UHSEES 34,136 51,107 A 16,971
20| At 34,136 51,107 A 16,971
OZSAINE (= EXZIE ZOHSD, =
2 MAIZIE 2IEY S NS FA
Q14 | JI22 66,8009 x21 2 x2H «82 22,445
OAlZt 22 8,350 %1.5% %2 x20 A 2+ +8R 4,008
@FSI=1=4-1 66,8009 x22 %343 4,543
o203 30,994,000 *4 . 5% 1,395
OHALE 30,994,000 *3. 12% 968
ongss 30,994,000 *1.5% 465
ORI 967,000 *6.55% 64
O’ E 30,994,000 %0. 8% 248
201 LBt AH| 91,615 65,000 26,615
02 22294 91,615 65,000 26,615
= 0f| At 91,615 65,000 26,615
OXCIZE=E JH 2L XES Z22)NH =24
S2H| 50,000 203 1,000
OXCIZ= JIH L XHS 22INH =46
S X 375,000 43| x2& 3,000
OaAUNSsSZ 22 At
2,000,000 53| 10,000
OZEHIE AS AES X2 & >
2lH 7,761,500 x 1004 A 77,615
206 24l 21,010 18,010 3,000
01 XM=24l 21,010 18,010 3,000
=0l At 21,010 18,010 3,000
OFIIZRE 7Y 1,000,000% 23] 2,000
OJIH=2E 7Y 1,324,3302 *33] 3,973
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EM: HEAZ2elx
H: HEHs S (2L2Z/HK)
Chel: HESHMSAME2YE (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES e i BlRE2
os¢gs #¢ 500,000& *23| 1,000
Oxd= Holls 2H 43 & LM 7
1,009, 250& *43| 4,037
OHUAE, OF7E, dEds3¥x X2
5,000,000& »23| 10,000
401 AEHIZ=ROH 997,000 455,000 542,000
01 Al&HI 997,000 455,000 542,000
= Off &F 997,000 455,000 542,000
O=NERAELXHE AMEELSA
160,000, 000& * 14 160,000
O&3tA HM & 222 WM S A
370,000,000& *1&l 370,000
OZO=ZINE HAXL(SXE)R A2
At 120,000, 0003 14 120,000
OMMYE E=HSAMES E=SA
15,000, 000& * 14! 15,000
OElt==Z% 0% wWHSA
100,000, 000& * 14 100,000
OXZAN0ESE OsY EXSA
20,000,000& =14l 20,000
OFZII& HXAHE XIS A
20,000,000& » 14l 20,000
OMSAE2eld YEFEH B3 A
15,000, 000& * 14 15,000
OMsAd2el s MILEHRXE S
15,000, 000& * 14! 15,000
OHUAE, 7% XBEHIARKNES
2,000,000& =304 60,000
OBXZJIE ZHESR 2+ 700,000 404 28,000
O2IIE2 ZGEE=S 500, 0002 *40H 20,000
OMSAE =222 (HE 8)
4,000,000& %53 20,000
OM=sAds22 2Dl S
3,400,000& x103] 34,000
405  RHaHE SHI 20,000 0 20,000
01 NI =SSHSH 20,000 0 20,000
= Off & 20,000 0 20,000
OAWZEIE s70 & 20,000,000 14! 20,000
ZotAHZHH =88 24 728,233 788,124 A 59,891
101 el=Ad4| 178,794 313,885 A 135,091
04 JIZtH=22HsE+ 178,794 313,885 A 135,091
= Ofl & 178,794 313,885 A 135,091
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H: HEHs S (2L2Z/HK)
el HREASALSY (69l @
x s . 0 & o & & 0 A o -
M- B8 a9 (3H) N2 - ByS =z T BlRE2
Ox=ZEMESNEN SSSAMIAAAH JI=
S(E8) 15,0003 *5A1 2E+21 L «5H «8& 63,000
OJlzs(gd=28])
10,000 *3AI 2H+21 2 «5H «8E 25,200
OAN2ZLAZRA(FEL2R)
10,0003 *1.5+8A| 2t x2H x683| 16,320
ORr=ss¥g 105,000& *5H »43= 22,575
O30z 127,095,000& *4.5% 5,720
(OFaRz 98- 127,095,000& *3. 12% 3,966
OnE:LE 127,095,000& *1.5% 1,907
Ot EE 127,095,000& *0. 8% 1,017
O&FIR 5,720,000& *6.6% 378
OMEHdEE HMSXNTAL SSSAHR 1A
g JI22 66,8003 x2S x212 +«BIH & 22,445
OAlIIeIZ 2 8,350 x1.5+2H x35A| 2t x8& 7,014
ORr=ssg 66,8003 x2H 43 5,745
o328z 35,204,000 *4.5% 1,585
(OFaRzg-h= 35,204,000& *3. 12% 1,099
OnE:LH 35,204,000+ 1.5% 529
O&IR 35,204,000& x0.6% 212
O &HTH 1,099, 000& *7.38% 82
201 et 430,239 424,239 6,000
01 At 2teltl 32,869 26,869 6,000
= Off & 32,869 26,869 6,000
Ox=Z% =ZIAM= 37,000& *123] 444
OxZ% gAZzd S22 EY
500,000& x12& 6,000
OZEHM =5+ 1,060 x1,000& 1,060
Ox=Z& MEEE 224l 250,000& *23] 500
O=MasX+d 22,000 4044 &t 880
OnggHAREFY 250,000& 23] 500
O=AIl Xz 200,000& »12& 2,400
O=g&¥s3+< 200,000& 33| 600
O&=J] ¥ Hld 2xz 3,480
—d=J dx= 30,000 «7CH+128 2,520
—HiO 2=z 20,0003 ~4CH+123 960
ogd =2 140,000& =122 1,680
OoHl&ozsEs +< 100, 000& *23| 200
Ost&s 237 1,000, 000& *43| 4,000
OFALEEZFY(HMA S) 1,000, 000& *33| 3,000
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u: MBS S4(SIURB/HS)
ol ANBHSALE CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
OS&eE3d 2e|AAE ABE 2
800,000& *33| 2,400
OL9Z 0|22 E22 HEH|
250,000& *x23] 500
OsZ)| HEZAN =2 125,000& = 10H 125
AJEA Il A2 400,000& x13] 400
22 HE BAM=xE 250,000& *2CH 500
OBge B2 W2
150, 000& = 12& 1,800
Ozl oEBel HH++E
100,000& =2CH x12& 2,400
02 5324l 397,370 397,370 0
= 0ff & 397,370 397,370 0
OZANIIARSB 12,000,000& = 12& 144,000
Odtolx==22 12,000,000& x12& 144,000
OXst=AIEgs 4,500,000& x12& 54,000
OB orM & 3l H| 50,000& *13] 50
OMd+=xX ES¢43 A 500,000& *23| 1,000
O3t xdHA 500,000& 13| 500
OCIHY S&l 0= 30,000& x12& 360
osEgdel A2 4,000,000& *x13] 4,000
OARAIE S22 150, 000& = 12& 1,800
Ox=Z&HSEX |A22idl 2,550,000& *13] 2,550
O3sXJ| X2l 375,000 43| 1,500
O&IIANE s 250,000 43| 1,000
OJIAANE S22 250,000 x43] 1,000
OMgdaEs 237 A2
1,500, 000& *63] 9,000
O=2stALHEH =2H HAER K22
3,000,000& x43] 12,000
OHEe FA 2,500,000& *x23] 5,000
OEss|F&elAlAE S22
1,000, 000& *13] 1,000
A A U AIRE HA 2,000,000& *23| 4,000
OANAE A ZH HAA 150, 000& = 16CH 2,400
OCCTVE X X224l 250,000 43| 1,000
O2e I S X2l 770,000 *33] 2,310
ooldlAI &) A2l
350,000& = 14CH 4,900
206 M Z&H| 10,000 10,000 0
01 Mzl 10,000 10,000 0




FA HSAE22 A

HE: MEHS S4(

Sol: ANSGHIALSY (St &8
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
=0l & 10,000 10,000 0
O+g® oz3y 2,500,00021 *23] 5,000
OFIISE 7Y 750,000 23] 1,500
OJAHES Y 500,000 *33] 1,500
ORZHAI THTY 250,000 *24 500
ONSI BERY 750,000 23] 1,500
401 ASH LY 109,200 40,000 69,200
01 Al&H 109,200 40,000 69,200
=0l & 109,200 40,000 69,200
OSSAYLHL YT SHYSTA
45,000,000%! * 14} 45,000
OSSHABUHSAY 0012 4QI)| 22
2 1,250,000 *4CH 5,000
O24+2ne) HYANE)| +YFHDE
ol A2 12,000,000 * 14} 12,000
OSSALUHIAY BSUHADER MB
7,200,0002 *144 7,200
O24 gigIl &1 20,000, 0008 * 14} 20,000
OSALME AT BAZ A EHY
I H| DA 20,000,000 * 14} 20,000
BHSALU (MSAL222)(IIE/IIE) 247,439 256,199 18,760
ol 2 oyl 115,454 120,579 15,125
ol 2oyl 115,454 120,579 15,125
101 Q12 115,454 120,579 A5,125
o1 24 98,901 104,228 15,327
=204 98,901 104,228 15,327
OARe 224y
10,2992 * 112 53041 2t + 12 40,785
Ofgz=+g 82,7869 6%« 117 58,116
02 JIEtEZ 4 14,633 14,351 282
204 14,633 14,351 282
OA2tel 224Y 8 8128 x2F +30AI 2H+122 6,345
Ofg2=+g 70,8362 * 1« 117 8,288
03 RIHA2ZZRES 1,920 2,000 £ 80
204 1,920 2,000 A 80
OJAHMILR 22 200,000 +6& 1,200
2UAFHZ X RSO 120,0009 6 720
o2 Al 131,985 135,620 13,635
ol Zl 131,985 135,620 £3,635
I

- 1197 -




SN
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HH: HHSAAH (HSAIE22IA)(IIEH/DIIE
el J2AH| S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
201 2Lt HH| 97,085 97,740 A B55
01 A2 22lH| 75,319 75,975 A B56
=20 & 75,319 75,975 A B56
OXIAANIEE L 2H SS22H|
458, 1202 83 3,665
OYRA JIHA, ARa 2728 2
300,000 23] 600
OYA(=E) =9 60,0002 «12 %3652 21,900
OY =X 3| 8,000 «10H 6 x 122 5,760
OHB=2D1, A2, MOI221 2 60,0002 *3Z 180
OStEAALAZEZ Q] 814,400 x103] 8,144
OFARERY 472 50024 x123] 5,670
OmEHADEDY 125,000 23] 250
OARA 2AI| XU 120,830 * 122 1,450
OZH=EAMI 2R2 250,000 * 122 3,000
O=A2XTY 22,0009 x554¢ Xt 1,210
OHlatol2 2279 100,000 23| 200
OMEHIZUHE+2(MSAIE)
500,0008 122 6,000
OMEHIISHASL2(2IIER, X2, 4
b 500,0002! x10R 5,000
OFJ| L Hd iz 2,700
—FHA)| Udxz 37,000 50« 12& 2,220
—HIO 2X2 20,000 *2CH * 122 480
ONEgIA=R 300,000 122 3,600
OgED=H| 50,0002 *43] 200
OaUESAE 2| 100,000€4 *23] 200
OO AlAE 29y 300,000 122 3,600
OXNSI HIAA =42 20,0002 »2CH 40
OS2I HE A =22 750,000 13 750
OS2I IHMBA =22 1,200,000 *13] 1,200
02 2E=29H| 21,766 21,765 1
=0l A 21,766 21,765 1
OolEY S 0122 170,000 *12% 2,040
OMBARLRBH L M2
416,660 122 5,000
OAMSRAXE XA 150,000% *13] 150
OO0IBx xeEE2 40,0002 *13] 40
OAgob® & 3 H 50,0002 *13] 50
SAJIAEIIHAR 300,000 13 300
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HI: AN2APH(MSAE2el2)(IIEH/IIE)
Ce: I3l (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
ONESRNERLELS 8,000,000& *13| 8,000
OM=ZxZda HA 3,000,000& *13] 3,000
X HA 375,000 *8IH A~ x13] 3,000
ogEz K= 186
— 2BIRHZ 330 x903] 30
—SJESE 2,130& *733] 156
202 044l 28,800 33,600 A 4,800
01 Z2LWA bl 28,800 33,600 AN 4,800
= 0l & 28,800 33,600 AN 4,800
OJIS2gRFd M3 2]
20,000& 128 x10 «12& 28,800
203 YR=&d| 6,100 4,280 1,820
02 HEIAER=XH| 1,240 680 560
= 0ff AF 1,240 680 560
OXAXNSTHAIS AIIEE AH|
40,000& *31H 1,240
04 EANSILRF=AH| 4,860 3,600 1,260
= 0l & 4,860 3,600 1,260
OFANESY 2234H| 405,000 x12& 4,860
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